Revo (2008 Platinum Edition) Parts List

Parts shown in bold are optional accessories. Part categories and individual part listings are arranged alphabetically. Prices are shown in US Dollars.

5262

Air filter and pre-filter inserts, foam (high-volume) (3) (pre-oiled,

assembled) (TRX 2.5, 2.5R, 3.3) ....ccocoiririiirceineec e $10.00
5266  Air filter body (high-volume)/ filter support/ cap/ foam filter, pre-

filter/ air filter base (angled)/wire mount/hardware (1 each) (TRX

2.5,2.5R, 3.3) .$14.00
5263  Oil, air filter

Bearings & Bushings

4609 Ball bearings (5x10x4mm) (2) (metal shielded, for clutch bell).......... $8.00
4611  Ball bearings (5x11x4mm) (2) (metal shielded, for clutch bell).. . $6.00
5119 Ball bearings, blue rubber sealed (10x15x4mm) (2)............ $7.00
5115 Ball bearings, blue rubber sealed (5x10x4mm) (2) .. $3.50
5116 Ball bearings, blue rubber sealed (5x11x4mm) (2)... .. $3.50
5114 Ball bearings, blue rubber sealed (5x8x2.5mm) (2)........cccceeveviieenes $4.00
5117  Ball bearings, blue rubber sealed (6x12x4mm) (2)
5180 Ball bearings, blue rubber sealed (6x13x5mm) (2)... .
5118 Ball bearings, blue rubber sealed (8x16X5mMm) (2) .......cccccevvrireennn. $6.00
5120 Ball bearings, blue rubber shield (12x18x4mm) (2) .......cccccevvevrieennns $8.00
5121

Bearing, needle roller (6x10x8mm) (2) ...
Bushings (plastic) (5x8x2.5mm) (4

Body & Accessornies

1926  Antenna caps, vinyl (2)/ antenna Spool..........ccccevveeveeriiiceiieieeeeens $2.00
5526  Antenna crimp nut, aluminum (blue-anodized)/ antenna nut tools..... $4.00
1726  Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1)........c........ $1.00
1834  Body clips (12) (standard size) .
3934  Body clips, heavy duty (12).......cccoeiiiiiiiiiieeeieeeee e
5314 Body mounts, front & rear/ body mount posts, front & rear/

2.5x18mm screw pins (4)/ 4x10Mm BCS (1) ...ccoivvviiiiiiieciiiiens $11.00
4915 Body washers, foam adhesive (10)
5320 Body, Revo (Platinum Edition) (clear, requires painting)/decal

SREET .. $25.00
5313X Decal set, Revo 3.3 (Revo logos and graphics decal sheet)........ $6.00
2514 Decal sheet, racing sponsors $3.00
9950 Official Team Traxxas racing decal set (flag logo/ 6-color)......... $4.50
5413  Wing mount, center / wing washers (for RevO)..........ccoceveiniiiicnnns $5.00
5411 Wing mount, Revo (complete minus wing, part #5412 or other)........ $10.00
5446  Wing, Revo (black)/ decal sheet
5446G Wing, Revo (Exo-Carbon finish)/ decal sheet ...

, Revo (white)/ decal sheet...

5388  Brake cam (1)/ SIEEVE (1)..c.ciiiieieiieiiierieiiie et $4.50
5364X Brake disc (high performance, vented)...........cccoooveiieiiiiiieiiiicees $19.95
5564 Brake disc (semi-metallic material) (replacement disc for Revo rear

DIAKE Kit) ....veeeeivcvceiieice ettt $4.00
5565X Brake disc hub (for Revo rear brake kit)/ 2mm pin (1)/ brake

PAAS (3) ittt bbbt nnes $7.00
5417  Brake kit, rear (dual-disc Revo) (Requires center differential part

5414 and gearbox housing 5391X)......cccceiierieiniinieeie s $19.00
5365 Brake pad set (inner and outer calipers with bonded friction

A= 1CT =1 USRS $7.50
5418 Linkage set, rear brake (Revo) (Includes: brake lever/ rod (wire)/

brake spring/ brake adjustment dial/ rod guide bushing/ screw

(ot ]| -1 o I SRS $5.00
5368 Linkage set, throttle & brake, Revo-Slayer (includes servo horns,

rod guides, brake spring, brake adjustment dial, brake lever,

rods (wires), bellcrank, throttle return spring, hardware) ................... $8.00
4978  Screws, 3x21mm button-head machine (hex drive) (partially

threaded, Revo brake DoltS) (6) ........cocveereirieiiiiiiieceeee e
Yoke, brake (1)/ torque pins (2)/ 4x15mm screw pi

Bumpers & Skidplates

5335 Bumper, front/ bumper mount, front/ 4x10mm BCS (2)/ 3x25mm

BCS (2) ettt
5335X Bumpers, front and rear (black chrome) ..........c.cccooeiiiiiiiciiicn,
5315 Guards, steering servo (2)
5316 Roll hoop, plastic/ transmission skid guard, plastic
5337  Skid plate set, front (2 pieces, plastic)/ skid plate, rear (1 piece,

plastic)
5473 Wheelie bar mount (1)(fits all Revo trucks).... .
5472 Wheelie bar, assembled (fits all Revo trucks).........ccccccceeeeunenneen. $20.00

Chassis & Attachments

5314 Body mounts, front & rear/ body mount posts, front & rear/

2.5x18mm screw pins (4)/ 4x10Mm BCS (1) ...ccovvieiiiiiieiieiiens $11.00

For assistance call 1-888-TRAXXAS. or e-mail Traxxas anvtime at subport@Traxxas.com

5324R Box, receiver & battery/ box cover/ foam padding/ adhesive/

mounting clip/ 4x8mm BCS (1)/ 4x12mm BCS (2) .... ... $8.25
5323 Bulkhead tie bars, front & rear (blue-anodized aluminum) .. . $9.50
5330 Bulkhead, front (L&R halves)/ diff retainer/ 4x14mm BCS (4)............$15.00
5329 Bulkhead, rear (L&R halves)/ diff retainer, rear/ 4x14mm BCS (4)....$15.00
5361 Chassis brace, Revo (3mm 6061-T6 aluminum) (blue-

anodized)/ 4x16mm BCS..... .$10.00
5322X Chassis, Revo 3.3 (extended 30mm) (3mm 6061-T6

aluminum) (anodized blue) .........cccoevrriernierninnnienins $60.00

5157 Cover plates and seals, forward only conversion (Revo) (Optidrive
blank-out plate, Optidrive sensor cover, shift fork cover)................... $
5315  Guards, steering servo (2)

5325R Servo mount, throttle/ 4x10mm BCS (2)

5326  Servo mounts, steering (2)
5317  Shock mounts (front & rear)/ wire clip (1)/ chassis wire clips (4)/
3x32mm CS (4)/ 3X6MM BCS (1) ...eiuviieiiiiieeie e $6.00
5337  Skid plate set, front (2 pieces, plastic)/ skid plate, rear (1 piece,
plastic)
5473 Wheelie bar mount (1)(fits all Revo trucks).
5472 Wheelie bar, assembled (fits all Revo trucks)...

Clutch & Related Parts

4609 Ball bearings (5x10x4mm) (2)
4611  Ball bearings (5x11x4mm) (2)..
5214  Clutch bell (14-tooth)/5x8x0.5mm fiber washer (2)/ 5mm e-

clip (requires 5x10x4mm ball bearings part #4609) (1.0 metric

PItCh) ..ot .$12.00
5215  Clutch bell (15-tooth)/5x8x0.5mm fiber washer (2)/ 5mm e-

clip (requires 5x11x4mm ball bearings part #4611) (1.0 metric

PIECR) $12.00
5216  Clutch bell (16-tooth)/5x8x0.5mm fiber washer (2)/ 5mm e-

clip (requires 5x11x4mm ball bearings part #4611) (1.0 metric

PIECR) ¢t $12.00
5217 Clutch bell (17-tooth)/5x8x0.5mm fiber washer (2)/ 5mm e-

clip (requires 5x11x4mm ball bearings part #4611) (1.0 metric

pitch)........
4146X Clutch shoes (2)/ spring (T-Maxx/Revo/Jato/Nitro 4-Tec)

.$12.00
... $7.75
. $3.00

3281 Cone, split beveled
1633  E-clips/ C-rings .... . $2.00
5244  Flywheel nut (TRX 2.5, 2.5R, 3.3) .. . $4.25
4142X Flywheel, (larger, knurled for use with starter boxes) (TRX 2.5,

2.5R, 3.3) (silver anodized) .$10.00

1985 Teflon washers, 5x8x0.5mm (20) (use with ball bearings . $2.00

Differential GComponents

5119 Ball bearings, blue rubber sealed (10x15x4mm) (2) .......................... $7.00
5117  Ball bearings, blue rubber sealed (6x12x4mm) (2)... .
5118 Ball bearings, blue rubber sealed (8x16x5mm) (2) .. .
5417  Brake kit, rear (dual-disc Revo) (Requires center d|fferent|a| part

5414 and gearbox housing 5391X)........cccovviiiiiiiiiie e $19.00
5381  Carrier, differential/ x-ring gaskets (2)/ ring gear gasket/ 6x10x0.5

TV $4.25
5414

Differential kit, center (Complete for Revo) (assembled with 100K
oil) Requires forward-only conversion (included) .
5136X Differential oil kit (1 each: 10K, 30K, 50K weights)
5382X Gear set, differential (output gears (2)/ spider gears (2)/ spider

gear shaft/ diff carrier SUPPOrt).........ccoeeiiiiieiieiieeeee e, $14.00
5414X Gear, center differential (Revo)/ X-ring seals (2)/

gasket (1) (Replacement gear for 5414)..........cccoeieiiieieeniienieeen, $4.00
5416  Gear, differential output (Revo center diff, front or rear without rear
brake Kit (5417))...c.ecueiiiiieieiiieieeet ettt $6.00
5415 Gear, differential output (Revo center diff, rear with rear brake
kit (5417))
5380 Housings, differential (front & rear) (1)
5130 Oil, differential (100K weight) (.7 oz (20cc)) ...
5135 Oil, differential (10K weight)
5136 Oil, differential (30K weight). .
5039  Oil, differential (500K Weight)............cocueiiiiiiieiceeee s
5137 Oil, differential (50K weight).........

5379X Ring gear, differential/ pinion gear, differential
5381X Spool, differential (eliminates differential. Use off-road

5334R Axle carriers, left & right (1 each) (use with larger 6x13mm ball

bearings)/ bearing adapters (for 6x12mm ball bearings) (2)/ dust
boot retainers (4)
Boots, driveshaft (rubber) (2)...

....$10.00
. $2.50

5459

REV. 080811 1427



Page 2 Revo (2008 Platinum Edition) Parts List

5153R Drive cups, inner (2) Revo (steel constant-velocity
driveshafts)/screw pin, M4/15(2) (for use only with 5333R

adjustable wheelbase rear suspension arms) ..........ccoccvseveeesnnanns $8.00
5153 Drive cups, inner (2) Revo/Maxx (steel constant-velocity

driveshafts)/screw pin, M4/15(2)..........cccvvmninriunrunnans $8.00
5451X Driveshaft assembly (1), left or right (fully assembled, ready to

install)/ 4x15Mm SCrew Pin (1) ....ccoiiiiiiiiiieee e $12.00
5154 Driveshaft, steel constant-velocity, Revo/Maxx (shaft only,

128.5mm)/ drive cup pin (1) $10.00
5451R Driveshafts, Revo/Maxx (steel constant-velocity)(assembled

w/inner & outer dust boots) (for models w/sealed pivot ball

suspension & 3.8" wheels)(4) $80.00
5450 Half shaft set, left or right (plastic parts only) (internal splined half

shaft/ external splined half shaft/ rubber boot) (assembled with

glued boot) (2 assemblies).........ccccoviiiiiiiiiiei e $7.50
5456 Half shafts, center front (Revo 3.3) (internal splined (1)/ external

splined (1)/ center rear (internal splined (1)/ external

splined (1)) (plastic parts only)....
4955  Pins, axle (2.5x12mm) (4)
5129 Rebuild kit (for Revo/Maxx steel constant-velocity

driveshafts) (includes pins, dustboots, & lube for 2

driveshafts assemblies)....... $7.00
5145  Screw pin, 4x15mm (6) .
5189 Screw pins, 4x13mm (with threadlock) (4)........ccooeevveiniiieiiiicees $3.50
5454  Stub axle (Steel) (2)......coiirieiiiieeee e $5.00
5166 Stub axle, (1)/ axle sleeve (1) Revo/Maxx (steel constant-

velocity driveshaft) .........cccoocerriiiienninnr s $7.50
5452  U-joints, driveshaft (carrier (4)/ 4.5mm cross pin (4)/ 3mm cross

pin (4)/ e-clips (20)) (metal parts for 2 driveshafts).............ccccocoeeeee. $10.00
5353X Wheel hubs, splined, 17mm (blue-anodized) (4)/ wheel nuts,

splined, 177mm (blue-anodized) (4)/ screw pins, 4x13mm (with

threadlIock) (4) .. cooueeeeeeieee e
5353 Wheel nuts, splined, 177mm (blue-anodized) (4) ... .
5457  Yoke, brake (1)/ torque pins (2)/ 4x15mm screw pin ... .
5458X Yokes, differential and transmission (2)/ 4x15mm screw pins (2)...... $4.00
5453 Yokes, stub axle (2)/ PiNS (2) ........cocooviiiiiiiiiiiiiiiiiii $4.00

Engine & Servo Mounts

5360X Big block Installation kit (engine mount and required

hardware).........ccceceeereerseeencrnens $55.00
5361 Chassis brace, Revo (3mm 6061-T6 aluminum) (blue-

anodized)/ 4x16mm BCS ... $10.00
5361A Chassis brace, Revo/Slayer (3mm 6061-T6 aluminum) (titanium-

anodized)/ 4x16mm BCS .......cooiiiiiiiieee e $10.00
5360 Engine mount (complete assembly)/ 3x28mm CS with washers (2)/

3x10 CS with washers (10) .......cceeiiiiieiiieiiere s $19.00
3159  Screws, 3x10mm caphead machine (hex drive) (6)/

lockwashers (6)/ hex WIenCh ..........ccccceoieiiieiiiiiieee s $2.75
5325R Servo mount, throttle/ 4x10mm BCS (2) ......ccceviiiieiiiiiiieeiieeee, $4.00
5326  Servo mounts, StEEMNG (2)......ccueeeuiiieeeeeeeeieee e $3.00

5274R Backplate/ 20x1.4mm O-ring (for engines w/o starter) (TRX 2.5,
2.5R, B.3) it $10.00
5274 Backplate/ 20x1.4mm O-ring (for engines with starter) (TRX
2.5, 2.5R) ..ocerirrereriennennns $12.00
5238R Cooling head, PowerTune (machined aluminum, blue-
anodized) (TRX 3.3), head protector (1), 3x6mm CCS (5)
5288R Crankshaft, IPS (for engines w/o starter) (TRX 3.3) .....coocevniiiieennns
5288 Crankshaft, IPS (for engines wi/starter) (TRX 3.3)....
3980 Glow plug wrench (universal wrench) .
3232  Glow plug, super-duty (long medium)/ gasket ...........ccoceeverinienns
3232X Glow plug, super-duty (long-medium)/gasket ............cccoooeevevininnnnnn.
5228 Head protector, cooling head (1)/3x6mm CCS (5) (TRX 3.3) .
5290 Piston/sleeve (matched set), wrist pin clips(2) (TRX 3.3) ...ccccoveeenen.
5211R Roller clutch/ 6x8x0.5 TW (1) (also called one-way bearing) (TRX
2.5,2.5R, 3.3) .
5277  Shaft, starter (TRX 2.5, 2.5R, 3.3) ....ccoroiiiiiriiieinisceeeeeeeeeee $9.00
5170 Starter, recoil (complete with screws) (TRX 2.5, 2.5R, 3.3).......... $20.00
4091 Temp gauge, blue (On-board engine tuning aid, digital LCD

readout, new style with max. temp. memo

Cable ties, medium (black) (6)

4085 Hanger wire, universal (6-inches, cut and bend to suit) .
5346  Hanger, metal wire (for tuned pipe)/ 4mm GS (1)/ 4x10 BCS (1) ...... $2.00
5254  Header spring/ gaskets (TRX 2.5, 2.5R, 3.3)...ccccovviiiiiniiiinineenn, $3.00
5340 Header, exhaust (tubular aluminum, silver-anodized) (TRX 2.5,

2.5R, 3.3) e 20.00
5340X Header, exhaust (tubular aluminum, silver-anodized)/ spring

mount (TRX 2.5, 2.5R 3.3)
5256 O-ring, header 12.2x1mm (TRX 2.5, 2.5R, 3.3)
5245X Pipe coupler, molded (black)/ exhaust deflecter (rubber, black)/

cable ties, long (2)/ cable ties, Short (2)........cccceeveeiiiiiiiiiieiiiceees

5245 Pipe coupler, molded (blue)/ exhaust deflecter (rubber, blue)/
cable ties, long (2)/ cable ties, short (2).........ccccrirrrirriniieniinnnns $4.00
5142  Screws, 3x15mm cap-head machine (hex drive) (with split and flat
washers) (6)
5493  Tuned pipe, Resonator R.O.AR. legal (dual-chamber, enhances
mid to high-rpm power) (for Revo with TRX Racing Engines)........... $55.00
5490 Tuned pipe, Resonator, R.0.A.R. legal (single-chamber,

enhances low to mid-rpm power) (for Revo with TRX Racing

5334R Axle carriers, left & right (1 each) (use with larger 6x13mm ball
bearings)/ bearing adapters (for 6x12mm ball bearings) (2)/ dust
boot retainers (4)

5323 Bulkhead tie bars, front & rear (blue-anodized aluminum)
5330 Bulkhead, front (L&R halves)/ diff retainer/ 4x14mm BCS (4) ...
5134  Caster spacers (4)/ shims (4) .
5339 Insert, threaded steel (replacement inserts for Tubes) (includes (1)

left and (1) right threaded INSErt) .........c.cccveririiiiiieiicee e $5.00
5495 Linkage, front sway bar (Revo/Slayer) (3x70mm

turnbuckle) (2) (assembled with rod ends, hollow balls and

ball Stud).....ccceerverererereererseree e $12.00
5378X Pivot ball caps (4)/ dust boots, rubber (4)/ dust plugs, rubber (4)/

dust boot retainers, black (4), blue (4) (2 pkgs. req. to complete

BTUCK) .ttt ettt ettt s e ee e nte s eneas $6.75
4933  Pivot balls (4)/ pivot ball cap bushings (4) .........ccoceeviiininieiicee $6.00
4933X Pivot balls, hard-anodized 7075-T6 aluminum (4)/ pivot ball

cap bushings (4) ....ccceecerriirriennirree e .$20.00

5319X Push rod (aluminum) (assembled with rod ends) (2) (red) (use with

#5359 progressive 3 FOCKEIS) ........ovcuiiiiiiiiieiieeie e $12.50
5318X Push rod (aluminum) (assembled with rod ends) (2) (use with long

travel or #5357 progressive-1 rockers) .
5354X Rocker arm post (aluminum) (4)..

5354  Rocker arm post (Steel) (2) .....ceerueeriiiiiiiii et
5356 Rocker arm set, long travel (120-T) (use with #5318 or #5318X

PUSIIOA). .. ittt sttt ea e esesne e $8.00
5357 Rocker arm set, progressive-1 (90-T) (use with #5318 or

L B ) Qo TTEY 1T ) . $8.00
5358 Rocker arm set, progressive-2 (90-T)/ spacers (red aluminum) (8)...$11.00
5359 Rocker arm set, progressive-3 (90-T) (requires pushrods part

#5319 or 5319X) . $8.00
5189  Screw pins, 4x13mm (with threadlock) (4)........cccooeeriiiiiiiinniieeee $3.50
5133  Spacer, pushrod (aluminum, red) (use with 5318 or 5318X pushrod

and 5358 progressive 2 rockers) (8)........cuvuveereerieeerenniiesie e $5.00
5332  Suspension arm upper (1)/ suspension arm lower (1) (left front) ...... $7.50
5331  Suspension arms upper (1)/ suspension arm lower (1) (right front) .. $7.50
5321  Suspension pin set (front or rear, hardened steel), 3x20mm (4),

3x40mm (2) .. . $4.75
5498 Sway bar kit, Revo (front and rear) (lncludes thick and thin

sway bars and adjustable linkage) (requires part #5411 to

install rear bUMPET) ... ——— $30.00
5496 Sway bar mounts (front & rear) (Revo)/ sway bar wires (front

& rear) (4)/ drill guide/ spacers $10.00

5338R Toe links, Revo (Tubes red-anodized, 7075-T6 aluminum, stronger

than titanium) (128mm, fits front or rear) (2)/ rod ends, rear (4)/ rod

ends, front (4)/ aluminum wrench (1).......ccooieiiiiiei e $25.00
Turnbuckle, aluminum (red-anodized), 58mm (1) (assembled with
rod ends and hollow balls).

Fuel Tank & Line

5594

3935 Body clip (mounting clip), angled, 90-degrees (10)...

3147X Fuel line (610mm or 2ft)

5363X Fuel tank, 150cc (complete)

3149A Heat shield tubing, fiberglass (2) (black) ..

5362 O-ring, fuel tank cap (Revo) (2) . .
5367 Pull ring, fuel tank cap (1)/ engine shut-off clamp (1) ......cccccoeieennene $3.00
5376 Rebuild kit, fuel tank (includes: mounting post, grommets (2), tank

guard, mounting clips (2), cap o-ring, cap o-ring retainer, cap pull
ring,

, Lubricants & Supplie

5001 Bottle, fuel filler (500cc)...... $8.00
5136X Differential oil kit (1 each: 10K, 30K, 50K weights)..... $21.00
3232  Glow plug, super-duty (long medium)/ gasket.... $5.50
3232X Glow plug, super-duty (long-medium)/gasket.. $5.50
5148 Grease, white lithium...........ccooecerricnrcr e $3.00
5263 Oil, air filter........ $4.99
5130 Oil, differential (100K weight) (.7 0z (20CC)) .....cvvvrrrrrerimssnnseesinnnns $8.00
5135 Oil, differential (10K weight). . $7.50
5136 Oil, differential (30K weight) . . $7.50
5039  Oil, differential (500K WeIght)..........cccveieriiiiiiiieeeieee e $8.00
5137 Oil, differential (50K weight)......... $7.50
5001R Rebuild kit, fuel filler bottle (includes bottle lid (1) and dispensing

tube caps, rubber (2) (fits 8mm or 5/16" dispensing tube)) ............... $2.50

REV. 080811 1427



Page 3 Revo (2008 Platinum Edition) Parts List

1666  Silicone shock 0il (30 W) .......ceeiiiiiiiiiieiie e $2.00

5060 Top Fuel, 10% nitro (gallon) $35.00

5010 Top Fuel, 10% nitro (quart) ........ccceecereivrrersnnnnns $12.50

5070 Top Fuel, 20% nitro (gallon) $45.00

5020 Top Fuel, 20% nitro (quart) ........cccceecreriurccnnnnns $15.50

5080 Top Fuel, 33% nitro (gallon) $58.00

5030 Top Fuel, 33% nitro (quart) .......ccccceeerreereeeenennn $19.50
Handware

3935 Body clip (mounting clip), angled, 90-degrees (10) ........cccccevvvrueens $3.00

1834 Body clips (12) (standard Size)........cccvvurreririnrsennnnne $2.00

3934 Body clips, heavy duty (12)

3182  Collars, screw (2)/ set screws, 3mm (2)........ccccerirrrieeninieeiineeeene

5150  E-ClipS, 2MM (24) .....eiiiiiiieeieete e

5477  Flat wrench, 5mm (blue-anodized aluminum).

5478 Flat wrench, 8mm (blue-anodized aluminum).

3980 Glow plug wrench (universal wrench)

2586 Head screws, 3x15mm cap-head machine (hex drive) (6) (TRX

2.5 bttt ettt .
5476 Hex wrenches; 1.5mm, 2mm, 2.5mm, 2.5ball...............cccoevrirnnnn. $6.00
5475  Multi-tool (plastic).........cccceevernes
5158  Nuts, 2.5mm nylon locking (12) ..

2745  Nuts, 3mm nylon locking (12)
4147X Nuts, 5mm flanged nylon locking (aluminum, blue-

ANOAIZEd) (4)..eceeeernerrcreereree et $6.00
5147X Nuts, 5mm flanged nylon locking (steel, serrated) (8) ...........cccee.... $3.50
4147  Nuts, 5mm nylon locking (8) ......ccccecvvevveriieriiennen. . $2.00
4987  Rings, retainer (snap rings) (14mm) (2) . $2.00
5144  Screw pin, 2.5x18mm (6) ........cccce..... $1.50
5145  Screw pin, 4x15mm (6)............... $3.50
3236 Screws, 2.5x12mm cap-head machine (6) ..... . $2.50
3215 Screws, 2.5x6mm cap-head machine (hex drlve) (6) .. $2.00
3965 Screws, 2.5x8mm cap-head machine (6) ..........c.ccecvevininieiiinnnennn, $2.50
5169 Screws, 2.6x8mm countersunk maching (6)..........ccccceverrieeneriiennns $2.00
2674  Screws, 2x6mm roundhead self-tapping (6) ... .81,
2577  Screws, 3x10mm button-head machine (hex drlve) (6) ..................... $2.50
2587  Screws, 3x10mm cap-head machine (6) (no washer) ...........c.c........ $2.50
3159  Screws, 3x10mm caphead machine (hex drive) (6)/

lockwashers (6)/ hex Wrench ...........cccocoiiiiiiiiiie, $2.75
2551  Screws, 3x10mm countersunk machine (6) (hex drive).............ccc.... $2.50
5282  Screws, 3x12mm button-head machine (6) (starter attachment

screws With ThreadloCk) .........ooeeeiiiiiierieeiie e
2578  Screws, 3x12mm button-head machine (hex drive) (6) ...

2552  Screws, 3x12mm countersunk machine (6) (hex drive)...
2579  Screws, 3x15mm button-head machine (hex drive) (6)
5142  Screws, 3x15mm cap-head machine (hex drive) (with split and flat

WASKNETS) (B) ..ottt sttt st ss et seeneeseseesesaennens $
2553  Screws, 3x15mm countersunk machine (6) (hex drive)

2580 Screws, 3x20mm button-head machine (hex drive) (6)
4978  Screws, 3x21mm button-head machine (hex drive) (partially

threaded, Revo brake DoltS) (6) ........cocueereirieiiiiiiieeeeeee e
2581 Screws, 3x25mm button-head machine (hex drive) (6)

3963 Screws, 3x28mm cap-head machine (hex drive) (6)/ 3x6mm

ELW (B) ... $2.75
2582  Screws, 3x30mm button-head machine (hex drive) (6) .........ccccceenee $2.50
3964  Screws, 3x32mm cap-head machine (hex drive) (6) ........cccccervrnnen.

2575 Screws, 3x6mm button-head machine (hex drive) (6). .
2554  Screws, 3x6mm cap-head machine (hex drive) (6) ..........cccccevvrennnen.
2576  Screws, 3x8mm button-head machine (hex drive) (6)

3936 Screws, 4x10mm button-head machine (hex drive) (6) ...

3937  Screws, 4x12mm button-head machine (hex drive) (6)...

3938 Screws, 4x14mm button-head machine (hex drive) (6)...

3933  Screws, 4x16mm button-head machine (hex drive) (6)

3940 Screws, 4x4mm button-head machine, aluminum (blue) (hex

AMIVE) (B) +.veveeeeeeiete ettt $3.50
3939 Screws, 4x6mm button-head machine (hex drive) (with

JLaTCT: (o] [oTe QN () F OSSPSR $3.00
4897  Screws, set (grub) 4mm (6) (with threadlock) ..........ccccoevieiiiniinnnnne $3.00
2743  Set (grub) screws, 3mm hardened (12) . $3.
3966 Shoulder screws, 3x10mm (6) (with threadlock)...........ccceceeriiienns $3.50
5133  Spacer, pushrod (aluminum, red) (use with 5318 or 5318X pushrod

and 5358 progressive 2 rockers) (8) .......couveeeeereenieeeniee e $5.00
3982 Washer, Teflon 6x8x0.5 (10) .
5480 Wheel wrench, splined, 17mm..........cccccocuiiieiieieiiiiciiiiieeeeeeee, $3.00
5299R Engine Manual, TRX 2.5, 2.5R, 3.3 .........coooooiiiiiiiiiiiiii $7.50

Radio System, Batteries, Charger

Antenna crimp nut, aluminum (blue-anodized)/ antenna nut tools.....
Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1).................

5526
1726

$4.00
$1.00

3036 Battery, RX Power Pack (5-cell flat style, GP cells, NiMH,

1100mAh) ....$30.00
2734  Cable ties (small) (10).... ... $2.00
2072  Gears set (for 2070, 2075 SEIVOS) .....ccueeriirieiniiiiieeiee e $4.00
3029 Plug Adapter (For TRX Power Charger to charge 7.2V Packs) ... $2.00
3031 Power adapter, AC (for RX Power Charger) (switching type,

auto power input selection 100-240VAC 50-60 HZ).... ....$19.00
3032 Power adapter, DC (12V car adapter for TRX Power Charger).... $7.50
2216 Receiver, micro, 4-channel ..........cccoocceveeererreeernneee. $40.00
2074  Servo case/gaskets (for 2056 and 2075 waterproof servos) ... $6.00
2046 Servo connector, Y adapter (for dual-servo steering)... . $4.00
2075 Servo, digital high-torque (ball bearing), waterproof ....$46.00
3030X TRX Power Charger, peak detecting/ AC adapter (for charging

NiCad or NiMH 5-cell receiver packs and 6-cell (7.2V) EZ-Start

packs) (includes plug adapter for 7.2V packs) .......cccccueeerrrerrcannnns $40.00
3035 Wiring harness for RX Power Pack, Revo (includes on/off switch

and charge jack

Axle carriers, left & right (1 each) (use with larger 6x13mm ball
bearings)/ bearing adapters (for 6x12mm ball bearings) (2)/ dust

5334R

boot retainers (4) ....$10.00
5323 Bulkhead tie bars, front & rear (blue-anodized aluminum) ... $9.50
5329 Bulkhead, rear (L&R halves)/ diff retainer, rear/ 4x14mm BCS (4)....$15.00
5134  Caster spacers (4)/ Shims (4) ....c.ooiiirieiiiieeeee e $3.00
5339 Insert, threaded steel (replacement inserts for Tubes) (includes (1)

left and (1) right threaded insert) .... ... $5.00
5497  Linkage, rear sway bar (Revo/Slayer) (3x50mm

turnbuckle) (2) (assembled with rod ends, hollow balls and ball

SHUA) o $12.00
5378X Pivot ball caps (4)/ dust boots, rubber (4)/ dust plugs, rubber (4)/

dust boot retainers, black (4), blue (4) (2 pkgs. req. to complete

truck)
4933 Pivot balls (4)/ pivot ball cap bushings (4)...
4933X Pivot balls, hard-anodized 7075-T6 aluminum (4)/ pivot ball

Cap BUSHINGS (4) ..ovueeeeccercrere et $20.00
5319X Push rod (aluminum) (assembled with rod ends) (2) (red) (use

with #5359 progressive 3 rockers) 12.50
5318X Push rod (aluminum) (assembled with rod ends) (2) (use with

long travel or #5357 progressive-1 rockers) .........cccccvvviieniiennnns $12.50
5354X Rocker arm post (aluminum) (4).......ccooeveerimninnseesannns $12.50
5354 Rocker arm post (Steel) (2)......oovueereiiiiiiiiiiie e $3.25
5356 Rocker arm set, long travel (120-T) (use with #5318 or #5318X

PUSIIOA). ...ttt ettt ne e $8.00
5357 Rocker arm set, progressive-1 (90-T) (use with #5318 or

#5318X pUShrod)........cccvuiriiniciiicsnnssene . $8.00
5358 Rocker arm set, progressive-2 (90-T)/ spacers (red aluminum) (8)...$11.00
5359 Rocker arm set, progressive-3 (90-T) (requires pushrods part

#5319 or 5319X) . $8.00
5348 Rod ends, Revo (large, for rear toe link only) (4)... $2.00
5189 Screw pins, 4x13mm (with threadlock) (4) $3.50
5133  Spacer, pushrod (aluminum, red) (use with 5318 or 5318X pushrod

and 5358 progressive 2 rockers) (8)........cuvueereeiieeneeniieeie e $5.00
5333R Suspension arm set, adjustable wheelbase (lengthens

wheelbase 10mm or 19mm) (suspension arm upper (2)/

suspension arm lower (2)/ bumper mount spacers (2)/

5 L] = 0 3 ) ) $16.00
5328 Suspension arms, adjustable wheelbase left side (upper arm (1)/

TOWET @M (1)) 1.ttt s nens $7.50
5327 Suspension arms, adjustable wheelbase right side (upper arm (1)/

TOWET @M (1)) ittt eae e nens $7.50
5321 Suspension pin set (front or rear, hardened steel), 3x20mm (4),

BXAOMM (2) 1ottt ettt $4.75
5498 Sway bar kit, Revo (front and rear) (includes thick and thin

sway bars and adjustable linkage) (requires part #5411 to

install rear BUMPET) ..o $30.00
5496 Sway bar mounts (front & rear) (Revo)/ sway bar wires (front

& rear) (4)/ drill guide/ spacers $10.00
5338R Toe links, Revo (Tubes red-anodized, 7075-T6 aluminum, stronger

than titanium) (128mm, fits front or rear) (2)/ rod ends, rear (4)/ rod

ends, front (4)/ aluminum wrench (1 ....$25.00

Recoil Starter

5274 Backplate/ 20x1.4mm O-ring (for engines with starter) (TRX

2.5, 2.5R) e $12.00
5288 Crankshaft, IPS (for engines w/starter) (TRX 3.3).....cccccviirrinnnnns $39.00
5211R Roller clutch/ 6x8x0.5 TW (1) (also called one-way

bearing) (TRX 2.5, 2.5R, 3.3) ......... $22.50
5277  Shaft, starter (TRX 2.5, 2.5R, 3.3) $9.00
5170 Starter, recoil (complete with screws) (TRX 2.5, 2.5R, 3.3).......... $20.00

5466R

Bodies, GTR shock (hard-anodized, Teflon-coated aluminum) (4),
with TiN shafts (4) (bodies and shafts only)...........cccccooiiiiinienns $50.00

REV. 080811 1427



Page 4 Revo (2008 Platinum Edition) Parts List

5466X
5465

5475
5158
5462

5469
5463T
5460X

1666
5461

Body, GTR shock (hard-anodized, Teflon-coated aluminum) (1) ...... $10.00
Caps and spring retainers, GTR shock (upper cap (2)/ hollow

balls (2)/ bottom cap (2)/ upper retainer (2)/ lower retainer (2))......... $5.00
MUH=LOO! (PIASHIC) ...ttt $2.50

Nuts, 2.5mm nylon locking (12)
Rebuild kit, GTR shock (x-rings, bump stops, bladders, all pistons,
piston nuts, shock rod ends) renews 2 shocks
Rod ends (GTR shocks) (6)
Shaft, GTR shock TiN-coated (2)...
Shocks, GTR hard-anodized, Teflon-coated aluminum bodies with

TiN shafts (fully assembled w/o springs) (4) .......cccceereerieeiienieeiiens $80.00
Silicone shock oil (30 wt)
Variable damping kit, GTR shocks (includes #1, #2, #3 pistons and
stainless steel valves

5478
5366
5352X

2554

5436
5438
5442
5444
5435
5437
5439
5440
5441
5445

5214

5215

5216

5217

2554
3953
3954
3955

Siipper Clutch Components
Flat wrench, 8mm (blue-anodized aluminum)...........cccccoooviceiinnnnne
Input shaft, transmission (slipper shaft)
Rebuild kit, slipper clutch (steel disc/ friction pads (3)/ spring (2)/
2x9.8mm pin/ 5x8mm MW/ 5.0mm NL (1)/ 4.0mm NL (1)) (for
ReVO & MaxX trUCKS) ........ccveiuiiiiiicieiiieee e $7
Screws, 3x6mm cap-head machine (hex drive) (6) ..

Slipper pressure plate and hub (allo

Spring, shock (GTR) (2.9 rate white) (1 pair)
Spring, shock (GTR) (3.5 rate green) (1 pair) .
Spring, shock (GTR) (4.9 rate silver) (1 pair)..
Spring, shock (GTR) (5.9 rate blue) (1 pair)....
Spring, shock (red) (GTR) (2.6 rate Yellow) (1 pair)....
Spring, shock (red) (GTR) (3.2 rate orange) (1 pair)
Spring, shock (red) (GTR) (3.8 rate gold) (1 pair)
Spring, shock (red) (GTR) (4.1 rate tan) (1 pair)...
Spring, shock (red) (GTR) (4.4 rate black) (1 pair)
Spring, shock (red) (GTR) (6.4 rate purple) (1 pair) .
Spring, shock red (GTR) (5.4 rate pink) (1

Spur Gears & Clutch Bells

Clutch bell (14-tooth)/5x8x0.5mm fiber washer (2)/ 5mm e-
clip (requires 5x10x4mm ball bearings part #4609) (1.0 metric
pitch)
Clutch bell (15-tooth)/5x8x0.5mm fiber washer (2)/ 5mm e-

clip (requires 5x11x4mm ball bearings part #4611) (1.0 metric

PIECRY et $12.00
Clutch bell (16-tooth)/5x8x0.5mm fiber washer (2)/ 5mm e-

clip (requires 5x11x4mm ball bearings part #4611) (1.0 metric

PIECR) s $12.00
Clutch bell (17-tooth)/5x8x0.5mm fiber washer (2)/ 5mm e-

clip (requires 5x11x4mm ball bearings part #4611) (1.0 metric

o1 211 ) RS SRR $12.00
Screws, 3x6mm cap-head machine (hex drive) (6) ........c.cccovvreeens $2.50
Spur gear, 36-tooth (1.0 metric pitch) ........cccceeceriiirieeennne $3.00

Spur gear, 38-tooth (1.0 metric pitch)
gear, 40-tooth (1.0 metric pitch)....

5355X

5355
5341X
5343X
5469
5347
5349
5345X

5345R

5344X

2075
5338R

5355X

Hollow ball set, aluminum Revo (30)/ tall centered hollow
ball (2)/ tall offset hollow ball (2)/ bump steer adjustment

shims; 3.5mm (2), 1.17mm (2)
Hollow ball, tall centered (2)/ tall offset hollow ball (2)/ bump steer
adjustment shims; 3.5mm (2), 1.17mMmM (2) ...ccoeiiiiniiiniiiieeeeees
Linkage, steering (Revo) (3x30mm turnbuckle) (2)/ rod ends (4)/

$29.50

NOHOW DAIIS (4) ...vveeeieeicieeieeeteeee ettt $3.50
Mount, steering arm/ steering stops (2) (lower hinge pin
retainer) (includes standard and maximum throw steering stops)..... $3.50

Rod ends (GTR ShOCKS) (8) ......ceuverviriiriieiiniisieeieeeeee s
Rod ends, Revo (large) with hollow balls (12)

Rod ends, small, with hollow balls (6) (for Revo steering I|nkage) .....

Servo horns, steering and throttle (for non-Traxxas

servos (Hitec, JR, KO, Airtronics)) $10.00
Servo horns, steering, long (2), short (2)/ linkage,

steering (3x20mm turnbuckle) (2)/ rod ends (short) (4)/ hollow

DAIIS (4) ... $6.25
Servo saver spring, heavy duty (for use with metal-gear

SEIVOS) w.uvueuieiiesesestssesse e s ses st s st s sesas st s ae b et s ae e s se e e e e e e e eas it enesnn st nnen $2.50

Servo, digital high-torque (ball bearing), waterproof.......................... $46.00
Toe links, Revo (Tubes red-anodized, 7075-T6 aluminum, stronger
than titanium) (128mm, fits front or rear) (2)/ rod ends, rear (4)/ rod
ends, front (4)/ aluminum wrench (1).

Suspension Linkage

Hollow ball set, aluminum Revo (30)/ tall centered hollow
ball (2)/ tall offset hollow ball (2)/ bump steer adjustment

shims; 3.5mm (2), 1.177mm (2) $29.50

5355
5339
5341X
5319X
5318X
5319
5318
5469
5347
5348
5345R
5321

5338
5338R

6160X
9914
9950
9946
9945
9947
9948

5388
3182
5418

5368

5392

5341X

5345X

5345R

3966

5189
5374

4973R

5174A

5174

5375R

5171

5375

5471

5470

4973

5370

Hollow ball, tall centered (2)/ tall offset hollow ball (2)/ bump steer
adjustment shims; 3.5mm (2), 1.17mMmmM (2) ....cooovvriieniiiiiceeeeee
Insert, threaded steel (replacement inserts for Tubes) (includes (1)
left and (1) right threaded insert) .... .
Linkage, steering (Revo) (3x30mm turnbuckle) (2)/ rod ends (4)/

hOlIOW DAIIS (). $3.50
Push rod (aluminum) (assembled with rod ends) (2) (red) (use

with #5359 progressive 3 rockers) .$12.50
Push rod (aluminum) (assembled with rod ends) (2) (use with

long travel or #5357 progressive-1 rockers) .........cccccvvriieriennnes $12.50
Push rod (steel) (assembled with rod ends) (2) (black) (use

with #5359 progressive 3 rockers) $7.00
Push rod (steel) (assembled with rod ends) (2) (use with long

travel or #5357 progressive-1 rockers).. $7.00
Rod ends (GTR shocks) (6).........cccccveenee $2.00
Rod ends, Revo (large) with hollow balls (12) . $9.00
Rod ends, Revo (large, for rear toe link only) (4).......ccocevveiiiiiennnns $2.00
Servo horns, steering, long (2), short (2)/ linkage,

steering (3x20mm turnbuckle) (2)/ rod ends (short) (4)/ hollow

DAIIS (4) . $6.25

Suspension pin set (front or rear, hardened steel), 3x20mm (4),
3x40mm (2) e $4.
Toe link, 5.0mm steel (front or rear) (2).... ....$10.00
Toe links, Revo (Tubes red-anodized, 7075-T6 aluminum, stronger
than titanium) (128mm, fits front or rear) (2)/ rod ends, rear (4)/ rod
ends, front (4)/ aluminum wrench (1

Team Traxxas ltems

Decal sheet, racing sponsors.......
DVD, Maxx Power! Full Throttle Action (sleeve)....
Maxx Book (By AirAge Publishing)....
Official Team Traxxas racing decal set (flag logo/ 6-color).
T-Shirt, Large, T-Maxx King of Monsters.....

T-Shirt, Med, T-Maxx King of Monsters
T-Shirt, XL, T-Maxx King of Monsters ...
T-Shirt, XXL, T-Maxx King of Monsters
T-Shirt, XXXL, T-Maxx King of Monsters .
Traxxas racing banner, red & black (3x7 feet

Throttle & Brake Linkage

Brake cam (1)/ sleeve (1) $4.50
Collars, screw (2)/ set screws, 3mm (2) ... ... $2.50
Linkage set, rear brake (Revo) (Includes: brake lever/ rod (wire)/

brake spring/ brake adjustment dial/ rod guide bushing/ screw

ol ]| -1 o SOOI $5.00

Linkage set, throttle & brake, Revo-Slayer (includes servo horns,
rod guides, brake spring, brake adjustment dial, brake lever,
rods (wires), bellcrank, throttle return spring, hardware) .
Linkage, shift, Revo (includes: ball collar, spring, ball cup, servo

horn, iNKAQGE W) .......cuveveieiiiieieeeteeie ettt s $3.50
Linkage, steering (Revo) (3x30mm turnbuckle) (2)/ rod ends (4)/

NOHOW DAIIS (4) ...evieeieie ettt s $3.50
Servo horns, steering and throttle (for non-Traxxas

servos (Hitec, JR, KO, Airtronics)) $10.00

Servo horns, steering, long (2), short (2)/ linkage,

steering (3x20mm turnbuckle) (2)/ rod ends (short) (4)/ hollow
balls (4)
Shoulder screws, 3x10mm (6) (with threadlock).
Spring, throttle return (2

Screw pins, 4x13mm (with threadlock) (4).........cccceeveriiincieiciiees
Tires & wheels, assembled, glued (Gemini chrome wheels,
Talon tires, foam inserts) (2) (requires #4954 and #5147)............ $39.00
Tires & wheels, assembled, glued (Hurricane chrome wheels,

T-Maxx tires (6.3" outer diameter), foam inserts) (2) (fits

REVO/MAXX SEIIES) ...veerurrereenernetresseesseesesssessessestsessssssnnns $41.00
Tires & wheels, assembled, glued (Split-Spoke satin-finish

wheels, Talon tires, foam inserts) (2) (requires #4954 and #5147)....$39.00
Tires & wheels, assembled, glued (SS (Split Spoke) chrome

wheels, Talon tires, foam inserts) (2) (requires #4954 and #5147)....$39.00
Tires & wheels, assembled, glued (white dished 3.8" wheels,

Response Pro tires, foam inserts) (2) (use with 17mm splined

wheel hubs and wheel nuts, part #5353X) ....$47.00
Tires, Maxx Chevron 3.8" (2) (fits Revo/Maxx series) ... ...$30.00
Tires, Response Pro 3.8" (soft-compound, narrow profile, short

knobby design)/ foam inSerts (2) ........cccovvvreeriiniiiiie e $32.00
Tires, Response racing 3.8" (soft-compound, narrow profile,

short knobby design)/ foam inserts (2) .........ccccevimiiiciiniieniinnnns $30.00
Tires, SportTraxx racing 3.8" (soft compound, directional and
asymmetrical tread design)/ foam inserts (2) ........ccccccvvnirieerinnnnns $35.00
Tires, T-Maxx 3.8" (6.3" outer diameter (160mm)) (2) (flts

Revo/Maxx series) ..... - $32.00
Tires, Talon 3.8" (2)/ foam inserts (2)... .$30.00

REV. 080811 1427



Page 5 Revo (2008 Platinum Edition) Parts List

5353X

5353
5480
5371

5372
5373
5172X
5172

5119
5116
5117
5388
5157
5414

5394X
5383

5385

5384

5386
5414X

5416
5415
5391X
5366
5368

5390
5393
3982

5477
5339

5341X

5319X

5318X

5338R

5119
5116
5117
5383

5385
5384
5386

5390
5393

Wheel hubs, splined, 177mm (blue-anodized) (4)/ wheel nuts,

splined, 17mm (blue-anodized) (4)/ screw pins, 4x13mm (with
threadloCK) (4)......oieeieii e e
Wheel nuts, splined, 177mm (blue-anodized) (4) .
Wheel wrench, splined, 17mm
Wheels, dished 3.8" (white) (2) (use with 17mm splined wheel
hubs and wheel nuts, part #5353X) .
Wheels, Gemini 3.8" (chrome) (2) (requlres #4954 and #5147)...$11.00
Wheels, Hurricane 3.8" (chrome) (2) (requires #4954 and #5147) .......... $11.00
Wheels, SS (split spoke) 3. 8" (chrome) (2) (requires #4954 & #5147)...$11.00
Wheels, SS (split spoke) 3.8" (satin requires #4954 and #5147)....$11.00

Transmsmn GOIIIIIOIIIEIIIS
Ball bearings, blue rubber sealed (10x15x4mm) (2)......ccccceieerieennnen. $7.00

Ball bearings, blue rubber sealed (5x11x4mm) (2)... $3.50
Ball bearings, blue rubber sealed (6x12x4mm) (2) .. $4.00
Brake cam (1)/ SIEeVE (1)....cciiiiiiiiiiieee e $4.50
Cover plates and seals, forward only conversion (Revo) (Optidrive

blank-out plate, Optidrive sensor cover, shift fork cover)................... $2.50

Differential kit, center (Complete for Revo) (assembled with 100K
oil) Requires forward-only conversion (included)
Forward only conversion kit (eliminates reverse)...
Gear set, 2-speed close ratio (2nd speed gear 40T, 13T-16T input

GEArS, NATAWAIE).......c.eeviieeiieieiteieieee ettt ene $7.50
Gear set, 2-speed standard ratio (2nd speed gear 39T, 13T-17T

input gears, hardware) ......... .. $7.50
Gear set, 2-speed wide ratio (2nd speed gear 38T, 13T-18T

input gears, hardware) ......... .. $7.50
Gear, 15t Speed, 43T ....ooiiiiiiieieeeee e $3.00
Gear, center differential (Revo)/ X-ring seals (2)/

gasket (1) (Replacement gear for 5414) ........cccccoovviiiiiiniiiiiiees $4.00
Gear, differential output (Revo center diff, front or rear without rear

Drake Kit (5417)) .cueueeeeeieieieeeeee ettt $6.00
Gear, differential output (Revo center diff, rear with rear brake

KIt (5417)) vttt $7.50

Gearbox halves (front & rear)/ rubber access plug/ shift detent ball/
spring/ 4mm GS/ shift shaft seal, glued
Input shaft, transmission (slipper shaft) ...
Linkage set, throttle & brake, Revo-Slayer (includes servo horns,
rod guides, brake spring, brake adjustment dial, brake lever,

rods (wires), bellcrank, throttle return spring, hardware) ....
Primary clutch assembly/ 2x9.8mm pin/ 6x8x0.5 TW (1)
Primary shaft/ 1st speed hub/ one-way bearing/ snap ring/ 5x8mm TW ..$26.00

Washer, Teflon 6x8X0.5 (10).........coociiiiiiiiiiiiiiiiiiiii $1.25
Tumbuckies & Threaded rois

Flat wrench, 5mm (blue-anodized aluminum)...........cccccoooviceninnnnne $4.00

Insert, threaded steel (replacement inserts for Tubes) (includes (1)

left and (1) right threaded insert)............ccccoooiiieiiiiii e, $5.00

Linkage, steering (Revo) (3x30mm turnbuckle) (2)/ rod ends (4)/
hollow balls (4)
Push rod (aluminum) (assembled with rod ends) (2) (red) (use with

#5359 progressive 3 rOCKEIS) .......coeiiiieiiiiiieieiieec e $12.50
Push rod (aluminum) (assembled with rod ends) (2) (use with long
travel or #5357 progressive-1 roCKers) ..........ccoccevveereeniieeiiieeieeeneens $12.50

Toe links, Revo (Tubes red-anodized, 7075-T6 aluminum, stronger
than titanium) (128mm, fits front or rear) (2)/ rod ends, rear (4)/ rod
ends, front (4)/ aluminum wrench (1) ..............cccooevvviniiieeiceeen, $25.00

Two-Speed Components

Ball bearings, blue rubber sealed (10x15x4mm) (2)
Ball bearings, blue rubber sealed (5x11x4mm) (2)...
Ball bearings, blue rubber sealed (6x12x4mm) (2)...
Gear set, 2-speed close ratio (2nd speed gear 40T, 13T-16T input
gears, hardware)
Gear set, 2-speed standard ratio (2nd speed gear 3
input gears, hardware) .........
Gear set, 2-speed wide ratio (2nd speed gear 38T, 13T-18T

input gears, hardware) ......... .. $7.50
Gear, 1st speed, 43T
Primary clutch assembly/ 2x9.8mm pin/ 6x8x0.5 TW (1).......ccccvenene $14.00
Primary shaft/ 1st speed hub/ one-way bearing/ snap ring/ 5x8mm TW..$26.00

If you have questions or need technical assistance, call Traxxas at:

1-888-TRAXXAS

(1-888-872-9927) (U.S. residents only)

For orders, calls outside the U.S., and other information, call 972-265-8000, or fax
to 972-265-8011 e-mail Traxxas at support@Traxxas.com

WWW.TRAXXAS.coM

REV. 080811 1427



